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10 AISISXAIEHE2ZHIER 6,931 6,931
O0elold otz HE sH(28)e XA
6,931,000& 6,931
FR0tEsE XA 1,804,415 1,788,320 16,095
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301 EtE NS 29,163,392 27,799,690 1,363,702
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Al 2,623,806
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01 AR 2EHSHS(RNEXRTH) 29,153,392 27,799,690 1,353,702
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= 26,238,053
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= 72,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLolntel & MBS (NS
=) 7,048,205,000& 7,048,205
= 3,524,102
Al 2,114,462
- 1,409,641
colgl2 29 89,900 91,300 A1,400
Al 18,000
- 18,000
= 53,900
307 glztol & 89,900 86,300 3,600
Al 18,000
T 18,000
= 53,900
10 Al2ISTIAEEE2HIEX 76,400 72,800 3,600
Otfet=elsl S22l 24| K&
34,400,000 34,400
= 34,400
Ol I3 S X AMR=E 212H|
24,000,000 24,000
Al 12,000
- 12,000
OUet= 28 SXE ALR=E 12|
6,000,000& 6,000
= 6,000
Oligt=0lsl S 1X=1d st
1,000,000& * 12& 12,000
Al 6,000
- 6,000
11 AMISXAIEEX 13,500 13,500 0
Ot =2l E 22l SXA 13,500
o024 oot =2 6,800,000 6.800
= 6,800
oHZEI Y LA Ast
3,000,000 3,000
= 3,000
oL QNS S 3,700,000& 3,700
= 3,700
o=k 24 1,255,139 1,244,984 10,155
Al 831,646
- 347,493
= 76,000
307 elztol & 1,203,139 1,178,984 24,155
Al 831,646
- 347,493




SN OISR
M Lol=XEX
CHOl: OMNBED BIIE SRMED|E X4 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 24,000
05 212t =S 1,203,139 1,178,984 24,155
OoI=sIZ 22 SHEMA
1,740,000& 1,740
Al 1,740
OLeI=k2 2gHl 711,389,000& 711,389
Al 497,972
- 213,417
OLol=x2 2e 0B
8,160,000 8,160
Al 8,160
OkoI=i2 =22 23|
446,920,000 446,920
Al 312,844
T 134,076
ORIRFALSI S XA MK
100,000 20+ 122 24,000
= 24,000
OSBAHF SAIRE 100,000 »20& 2,000
Al 2,000
OBALAE Al2+2) = 8,930,000 8,930
Al 8,930
401 A2 HIRL R 0HbI 52,000 66,000 14,000
= 52,000
01 A28l 52,000 66,000 14,000
OoIsT2 =22 WXl
52,000,000 52,000
= 52,000
d=ed =29 N& 116,320 116,320 0
Al 33,480
- 22,320
= 60,520
307 elztol & 113,820 113,820 0
Al 33,480
- 22,320
= 58,020
10 Al2ISTIAIEEE 22X 113,820 113,820 0
OoZzg 2¢ A& 55,800,000 55,800
Al 33,480
- 22,320
oZzd =24 N& 58,020,000 58,020
= 58,020
308 AHXIEMSOIH 2,500 2,500 0
= 2,500




FA OIES
M Lol=XEX
ool oHNGHD 2D edaD|et =4 EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
12IIERg=s 2,500 2,500 0
OZ2Y 22X U2 X3
2,500,000 2,500
= 2,500
g2 32E & 6,950 6,950 0
301 EtE NS 6,950 6,950
02 AMBIEFHGS(FHAAS, NLHA) 6,950 6,950
OZE(&,=42)328 N
6,950,000& 6,950
FE2E=2ZZ2 08 2| BHXIALE 38,964 37,584 1,380
Al 18,982
- 18,982
= 1,000
307 el2to| & 38,964 37,584 1,380
Al 18,982
- 18,982
= 1,000
10 Al2ISXIAIEEE 22X 38,964 37,584 1,380
OZ2Y =3 T2 08 22Xt BiXIAY
37,964,000 37,964
Al 18,982
- 18,982
O Z2 8l 2|t HEFIHI
500,000 <22 1,000
= 1,000
de YA 11,000 11,000 0
Al 5,500
- 5,500
307 212+01& 11,000 11,000 0
Al 5,500
- 5,500
10 AlRISTIAIEEE 22X 11,000 11,000 0
OZ=2d gdatite 11,000,000 11,000
Al 5,500
- 5,500
It QIS KIARS 138,872 272,3% 133,522
Al 138,872
307 elztol & 138,872 272,3%A A133,522
Al 138,872
11 AMISXAIEEX 138,872 272,3% A133,522
CEBLSXHEH 138,872,000 138,872
Al 138,872
deg dted 2 =4 XA 77,460 69,800 7,660
= 38,730




SN OISR
M Lol=XEX
CHRl: OINGHD IR S MEIIB X4 (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 19,365
T 19,365
307 212t01™ 77,460 69,800 7,660
= 38,730
Al 19,365
- 19,365
10 Al SXAEEHE 22X 77,460 69,800 7,660
OZ2% dtgdl 2 =4 K& 77,460
odzg taHl X2 57,350,000 57,350
= 28,675
Al 14,338
- 14,337
od2g dgd N 7,130,000 7,130
= 3,565
Al 1,782
- 1,783
od2g dFL=NTAL
12,980,000 12,980
= 6,490
Al 3,245
- 3,245
=g SIS At 49,000 81,500 232,500
401 Al HIZ 2018 13,000 36,500 /23,500
01 AlZH| 13,000 36,500 23,500
Ogdzg adid & f - 2=
13,000,000 13,000
405 KHAHF SH] 36,000 45,000 29,000
01 M ESFH S| 36,000 45,000 29,000
A2 W)l S 2Y2E 7Y
36,000,000 36,000
AEEZ SUHIMA ZLXIR (AL 2488 HE) 63,430 13,430 50,000
Al 5,000
= 58,430
307 212t01™ 63,430 13,430 50,000
Al 5,000
= 58,430
05 glzt?(& = 63,430 13,430 50,000
Odle 2gHl XA (AlH]) 5,000,000& 5,000
Al 5,000
Odle 2gHl XI&A(2dl) 50,000,000& 50,000
= 50,000
O33=2gH| X& 8,430,000& 8,430
= 8,430




SN OISR
M Lol=XEX
SRl OHEGHD EIIR - SMED|B X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AlLIOIZ2E 29 364,115 345,348 18,767
Al 302,873
- 52,842
= 8,400
307 212+01& 364,115 345,348 18,767
Al 302,873
T 52,842
= 8,400
05 git?(& = 364,115 345,348 18,767
OAILINZEE =22 362,279,000 362,279
Al 299,437
- 52,842
ORIZFALSI S XA M0
100,000 x7&* 122 8,400
= 8,400
OSAHA SXZE 100,000& *7& 700
Al 700
OBALAE Al2+2l = 2,736,000& 2,736
Al 2,736
COIGESNAE SAA SXx=E 25,260 14,880 10,380
Al 20,460
= 4,800
307 212+01& 25,260 14,880 10,380
Al 20,460
= 4,800
11 AMEISXAEEES 25,260 14,880 10,380
oS SXAIE SAHL SX=&
20,460,000& 20,460
Al 20,460
ORIZFALSISXIAL M IHA
100,0002 ~4&x12& 4,800
= 4,800
LA AMZAF 2l 11,000 11,000 0
201 2egh=3| 3,000 3,000
01 At22t2lt] 3,000 3,000
OR¢ A 318
1,500,000 *23 3,000
301 LEtE N = 8,000 8,000 0
03 A2 H A0S (XILTHH) 8,000 0 8,000
ORI Ar A Z2l|
800,000 %10+ 8,000
Z2E S EE 1,000 1,000
307 212+01& 1,000 1,000
06 2= 1,000 1,000
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SN ISR
T 015 - HAH 25 24
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,222,659
[ 74,370
J| 57,562
Al 882,489
- 400,235
= 32,695
(= NPAL= 6,100 6,100
201 er2 3| 4,100 4,100
01 AtR2t2|HI 4,100 4,100
OOIE2ARIRE EA S
100,0003 *7& *13] 700
OOIS=XIASIAE] EH ST
100,000& 11 *32] 3,300
OotssttiZ s ZAt+g
100,000& 1 x13] 100
401 Al HIZ S 0HbI 2,000 2,000
01 AlZ2H| 2,000 2,000
OO08l0l=0IAIE =017 EH]
2,000,000& 2,000
OlsSsili At 33 At 5,010 4,436 574
201 el 4,710 4,136 574
01 At2t2ltl 2,000 0 2,000
Ootsstth 2= & & 28258 +¢
2,000,000& 2,000
02 S3=gl 2,710 4,136 A1,426
OotssitidgsFa sUHds R
40,0002 x2CH* 12 960
Ootss&tth 2138 3H(1391) RXIH]
10,0002« 12& 120
Ootsslh 8UsS dSAHE Rl
50,0002 123 600
OXsxt 2= 900,000 900
OXIS XAl 130,000 130
307 212+01& 300 300
01 22X &I 300 300
O HIoiotE 2=h| 50,0002 *62 300
OS2 MERE A 11,645 10,000 1,645
= 6,400
Al 800
- 800
= 3,645
201 ger=3| 4,000 5,000 21,000
= 3,200
Al 400
- 400




SN ISR
3 Ols - 34E 25 |d
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 4,000 5,000 21,000
SIRFAEI ANEE, KUl € WSSl
JIet 2g8I 4,000,000& 4,000
= 3,200
Al 400
- 400
202 04l 3,120 0 3.120
= 3,120
01 =LHOLI 3,120 0 3.120
ST (AIRIEE MDA
20,0002 %132/« 12& 3,120
= 3,120
204 MPoeHAH| 525 0 525
= 525
03 S3g =3l 525 0 525
OotjelgsHI (Al TR DIAI)
50,0002 *35/40A1 2+ 12 525
= 525
301 EtE N = 4,000 5,000 21,000
= 3,200
Al 400
T 400
01 A2 EH 2GS (RNEERTHE) 4,000 5,000 1,000
O2zl, MBIA& HAMSHI, JIEXIZEI
4,000,000 4,000
= 3,200
Al 400
= 400
HEAEY &= X2 15,400 16,400 A1,000
Al 10,780
- 4,620
301 EetE2 N = 15,400 16,400 21,000
Al 10,780
- 4,620
02 ARSI S2E AT S(FIANS, XLETHE) 15,400 16,400 21,000
Og=s=g 14,400,000 14,400
Al 10,080
- 4,320
O3+l 1,000,000& 1,000
Al 700
- 300
d20ts2=H K& 12,000 0 12,000
= 8,400
Al 3,600
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M JIEFgE=EL
Hu: Ol - HAW 25 |4
el OlSSA gy Qi ER)
SA - BB - SRAGEH) - NS - BES i s
301 LEt2E S 136,207 45,900 90,307
= 95,345
Al 40,862
01 AlBI2Z A +5l= ) 136,207 45,900 90,307
OOtSZ X /AT
136,207,0002 136,207
= 95,345
Al 40,862
RLES0ts 188 2 (EX) 128,720 90,816 37,904
J| 51,488
Al 77,232
307 212t01 & 128,720 90,816 37,904
| 51,488
Al 77,232
10 AFSIZRIAIS S 128,720 9,816 37,904
OBESHEINE 2
128,720,000& 128,720
Il 51,488
Al 77,232
2230l 88 N& 45,759 31,470 14,289
Al 40,959
= 4,800
307 212t01 & 45,759 31,470 14,289
Al 40,959
= 4,800
11 ASI S XA E X 45,759 31,470 14,289
O3sdENHd 230tsAl
15,064,000& 15,064
Al 15,064
O8E SAH &
23,160,000 23,160
Al 23,160
OOEE etz 900,000& 900
Al 900
OEE QMBS XIAF HRMA
100,000 x4 H 122 4,800
= 4,800
OO8E BMK =2
100,000 4% 400
Al 400
OEE SALR A =
478,300 & x3H 1,435
Al 1,435
Y - Hets OlssA 330,118 296,893 33,225
Al 198,071
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SN ISR
3 Ols - 34E 25 |d
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 350
Al 150
KH0tsHE 249 A& 271,980 253,200 18,780
= 135,990
Al 67,99
- 67,99
307 lztol & 271,980 253,200 18,780
= 135,990
Al 67,99%
- 67,99
10 Al2ISTIAIEEE2HIE X 271,980 253,200 18,780
OXlZ0otsHIE Jl22ddl XI&
271,980,000 271,980
= 135,990
Al 67,99%
- 67,995
E+2HE NG90otsdH I 14,616 14,616 0
= 7,308
Al 3,654
- 3,654
307 @I2t01 & 14,616 14,616 0
= 7,308
Al 3,654
- 3,654
11 AMISXAIEEX 14,616 14,616 0
OS=+==8d XNA0tsdd It
14,616,000 14,616
= 7,308
Al 3,654
- 3,654
EQEY NF0SHE =0 10,944 14,400 A3,456
= 5,472
Al 2,736
- 2,736
307 gl2to| & 10,944 14,400 N\3,456
= 5,472
Al 2,736
- 2,736
1 AMEISXAEEXS 10,944 14,400 A3,456
OER2Y XNF0tsHE =
10,944,000 10,944
= 5,472
Al 2,736
T 2,736
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SN ISR
M Ol - HAW 95 84
el OlSSA gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NS otSHE X2 131,318 55,099 76,219
Al 119,768
= 11,550
307 el2to| & 131,318 55,099 76,219
Al 119,768
= 11,550
11 MEISXAEE 131,318 55,099 76,219
OXgotsHy Sate 283 7,800
oORIESHE 7,800,000& 7,800
Al 7,800
OXSO0tSHE AL X2IHEHI
99,362,000 99,362
Al 99,362
OXgotsHe =208 X2
6,600,000 6,600
Al 6,600
Odtet| 1,380,000& 1,380
Al 1,380
OXISO0tSHIE! 2I2FARISXIAF MK
100,000 x8&* 122 9,600
= 9,600
OXSOtSHE SALAL SXRE K&
100,000 8% 800
Al 800
OXSOtSHIE HAgtal A XIS
1,950,000& 1,950
= 1,950
OXSOtSHE AL AlI2R5E
3,826,000 3,826
Al 3,826
XS 0otsHE SZohsdl X 6,000 10,000 24,000
= 3,000
Al 1,500
- 1,500
307 21201 & 6,000 10,000 24,000
= 3,000
Al 1,500
- 1,500
11 MEISXAEE 6,000 10,000 24,000
OXS0otsHE eZoiedl N
6,000,000& 6,000
= 3,000
Al 1,500
- 1,500
OlSSXILA IHHA(EX) 73,694 70,390 3,304

_28_




SN ISR
3 Ols - 34E 25 |d
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 34,272
Al 17,136
- 17,136
= 5,180
101 @124H| 72,144 68,890 3,254
= 34,272
Al 17,136
- 17,136
= 3,600
04 JIZtN2Z2 XS 2+ 72,144 68,890 3,254
OOIS=N DA 22(2BERLS, SX2
HNYg3 S £ 17,136,000 4 68,544
= 34,272
Al 17,136
- 17,136
O=ArelE 300,000& *4H 1,200
= 1,200
O8&d0i= 300,000 x4 H+23] 2,400
= 2,400
201 Let=Ehl 50 0 50
= 50
01 AFR2telHl 50 0 50
O3 (0SS XA 0k=3 XI&
50,0003 50
= 50
202 04| 1,500 1,500 0
= 1,500
01 2L A b 1,500 1,500 0
OSRA (0SS XA EH0H
125,000~ 128 1,500
= 1,500
FAHS OlsSEABIA XIH 114,302 133,446 A19,144
= 88,122
Al 6,609
- 15,421
= 4,150
201 =3 107,602 114,186 26,584
= 82,762
Al 6,207
- 14,483
= 4,150
01 At2teltl 103,602 110,186 N\6,584
O - =X - E8228 29
94,072,000& 94,072
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SN ISR
3 Ols - 34E 25 |d
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 75,258
Al 5,644
= 13,170
OCRIAEIE NgRRI2SH S
9,380,000& 9,380
= 7,504
Al 563
= 1,313
OB (OIS SEARIZEIA 0FR3 X2
50,0002 34 150
= 150
2 S524g4l 4,000 4,000 0
OSRABEHMEH Z2R2 =
4,000,000 4,000
= 4,000
202 04| 6,700 8,000 21,300
= 5,360
Al 402
- 938
01 2L A LI 6,700 8,000 A1,300
OCRIAEIEAIY 28 Of|
6,700,000 6,700
= 5,360
Al 402
- 938
CHiENEsdE £Xdl X 70,000 0 70,000
[ 45,000
Al 12,500
- 12,500
401 AlZHIZ S OHYI 50,000 0 50,000
[ 25,000
Al 12,500
- 12,500
01 Al&H| 50,000 0 50,000
(@]B3=1); F==—Full= IR~ PN]a] 50,000,000 50,000
= 25,000
Al 12,500
T 12,500
405 AtatE = 20,000 0 20,000
= 20,000
01 It =S F = 20,000 0 20,000
OB RE, &N 5 28 =3
20,000,000 20,000
= 20,000




PSS
IS BAd 25 54
IS gd (el ®e)
M- Z8 . 2l(31H) - NRAY - B A SimE==t
SNSsHEH olAddl X 55,140 53,040 2,100
= 27,570
Al 13,785
- 13,785
307 QIZ2t01 A 55,140 53,040 2,100
s 27,570
Al 13,785
- 13,785
10 Al = XA EHE2FHIE X 55,140 53,040 2,100
OUHEssHH et XA
55,140,000& 55,140
s 27,570
Al 13,785
- 13,785
SH=ssdH 2241 X& 7,000 7,000 0
s 1,800
Al 900
- 900
= 3,400
201 Let2| 1,000 1,000 0
= 1,000
01 ArR22ltl 1,000 1,000 0
OtstHEsdH 28 2Ajs S &4 =Y
100,000& %10 1,000
= 1,000
307 gI2tol ™ 6,000 6,000 0
s 1,800
Al 900
- 900
= 2,400
10 Al SXAIEHE2ZHIEX 6,000 6,000 0
OUEgN=ssdH 298 X&
3,600,000& 3,600
s 1,800
Al 900
- 900
OtigtNEssdy 2gd] XA
2,400,000& 2,400
= 2,400
SIHESEHE olA8] =0t XA (A8l 2,440 1,400 1,040
Al 2,440
307 QIZt01A 2,440 1,400 1,040
Al 2,440
10 AlSISEXAEHE2EHIEX 2,440 1,400 1,040
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SN ISR
T 015 - HiH 25 24
ool 349 2584 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,200
Al 1,200
11 AMEISXAEEES 2,400 2,500 A100
OF44d moietd e K&
2,400,000 * 1| 2,400
= 1,200
Al 1,200
FA4YE AN 31,282 18,696 12,586
= 15,641
Al 7,821
- 7,820
301 LEetE N = 31,282 18,696 12,586
= 15,641
Al 7,821
- 7,820
01 Al EEABZ2(2DEEMR) 31,282 18,696 12,586
ONASE GEHAE M2BE X2
31,282,000& 31,282
= 15,641
Al 7,821
T 7,820
FAEdE=SANE 2SN 189,012 154,680 4,332
Al 79,506
- 79,506
307 @I2t01 & 159,012 154,680 4,332
Al 79,506
- 79,506
05 git?(&=s 169,012 154,680 4,332
OHAHNEAY 2|
159,012,000 159,012
Al 79,506
T 79,506
HaEorde A= ALY XIH 98,650 97,470 1,180
= 49,325
Al 24,663
T 24,662
307 lztol & 98,650 97,470 1,180
= 49,325
Al 24,663
- 24,662
05 2ItRIE = 98,650 97,470 1,180
OFAHMY AHAIY 23|
98,650,000 98,650
= 49,325




SN ISR
T 015 - HiH 25 24
ool 349 2584 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 24,663
T 24,662
FAESEHAL ALY 2 X2 76,548 75,560 988
= 38,274
Al 19,137
- 19,137
307 lztol & 76,548 75,560 988
= 38,274
Al 19,137
- 19,137
05 2ItRIE= 76,548 75,560 988
OBAESEI ALY 22|
76,548,000 76,548
= 38,274
Al 19,137
- 19,137
HAESE ALY 2EOI2RE3) XA 6,4% 6,440 56
Al 3,248
T 3,248
307 elztol & 6.49% 6.440 56
Al 3,248
- 3,248
05 212t =S 6,49% 6,440 56
OFLESER Al 2HIO12RY3)
6,496,000 6.49%
Al 3,248
- 3,248
Stul & Ay XMy 2EX# 85,500 85,717 A7
= 59,850
Al 12,825
- 12,825
307 21201 & 85,500 85,717 AVATS
= 59,850
Al 12,825
- 12,825
05 212t =S 85,500 85,717 A21A7
Ost & d4ad JJdE 28
85,500,000 85,500
= 59,850
Al 12,825
- 12,825
St & Fad gAH X 2,768 2,768 0
Il 1,384
Al 692
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A JIEE=0
MM Ols - HAW ©5 S|4
chelr ZA49 2stgs XY (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 236,678
FadE 2aod 29 NI 170,000 163,000 7,000
307 212+01™ 170,000 163,000 7,000
05 It/ g 170,000 163,000 7,000
OFAEESIE 23|
170,000,000& 170,000
AU g&ts OPHHIOI 2F(XIY) 174,272 164,042 10,230
= 87,136
Al 43,568
- 43,568
307 2I2+0l™ 174,272 164,042 10,230
= 87,136
Al 43,568
- 43,568
11 Al =SXAMEES 174,272 164,042 10,230
OFAYE gttE 0btHI0l Y X
174,272,000 174,272
= 87,136
Al 43,568
- 43,568
HAE XIS AF BHXIXI2(XIR) 23,520 23,208 312
= 11,760
Al 11,760
307 QIZ2t01 A 23,520 23,208 312
= 11,760
Al 11,760
11 AR SXAMEER 23,520 23,208 312
OFAE XIZAF BHX XI&
23,520,000 23,520
= 11,760
Al 11,760
SSEAY fEAd T3y XA 9,800 9,800 0
307 2I2+01™ 9,800 9,800
11 AMSIEXAEEX 9,800 9,800
OFALYE 8AlE T2 29X
9,800,000& 9,800
EsdAE =207 2E(BX) 2,000 2,000 0
= 1,000
Al 1,000
307 212+01™ 2,000 2,000 0
= 1,000
Al 1,000
11 AL =SXAMEES 2,000 2,000 0




2A: JIsd8s
B 015 - HAH 25 54
¢ Ead 23Es N (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OFaE EAd 2Z/AJS 29X
2,000,000& 2,000
= 1,000
Al 1,000
HAE H2EE0IE NS (XY) 20,500 20,500 0
= 8,200
Al 6,150
- 6,150
307 QI2tol ™ 20,500 19,500 1,000
= 8,200
Al 6,150
- 6,150
11 AR SXAMEES 20,500 19,500 1,000
OFaxdE H=Sg0te XA
20,500,000 20,500
= 8,200
Al 6,150
- 6,150
HAHE S0tel X 23,870 23,870 0
= 9,550
Al 7,160
- 7,160
307 212+01 A 23,870 23,870 0
= 9,550
Al 7,160
- 7,160
11 Al SXAMEE X 23,870 23,870 0
O3A4E s0t2l X 23,870,000 23,870
= 9,550
Al 7,160
- 7,160
HAE gk= Ot0l0l ALK XI# 5,880 5,880 0
Al 5,880
307 gI2Hol ™ 5,880 5,880 0
Al 5,880
02 QIRHHAAIHE X 5,880 5,880 0
OFAHYNSOIHIOI SAR XI&
5,830,000& 5,880
Al 5,880
Fad SEXJ 2,401 1,000 1,401
| 1,681
Al 720
301 LPENZ 2,401 1,000 1,401
J| 1,681
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JIEH=1
ols - Ead 25 54
Had 2aas N (St &)
SA - ZE - BR(30) - HRA - B of v e HIDE2
Al 720
01 Al EE A S (2 RDEEMA) 2,401 1,000 1,401
OdEd, ALXN2S F4H
2,401
Jl 1,681
Al 720
2HZHI(OI=#=1) 289,032 295,563 26,531
= 130,194
Al 16,885
- 90,464
= 51,489
el 23 226,440 232,971 26,531
= 130,194
Al 16,885
- 27,872
= 51,489
OlSSEAtIZCIAL 2= 145,124 110,962 34,162
= 91,661
Al 6,874
- 16,042
= 30,547
101 21A4H| 127,343 98,362 28,981
= 80,285
Al 6,021
- 14,051
= 26,986
03 SRA(RIH L) 222+ 127,343 98,362 28,981
OOtSSEAtIZCIAL 2= 100,357
SPES= 2,150,000 «3H* 122 77,400
= 61,920
Al 4,644
- 10,836
oxU22eE 231,460 «3H 123 8,333
= 6,666
Al 500
- 1,167
SR 406,220 «3H « 12 14,624
= 11,699
Al 877
- 2,048
OOtsSE At ZeIAN B FHIRE 26,986
S == 190,830 x3&* 12 6,870
= 6,870




SN ISR
A HZYRAZHIOISH=1)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oxU22eE 63,0652 38 * 122 2,211
= 2,211
o HE S I 1,872,660 *3H 5,618
= 5,618
SESR=Ea ] 140,000& x32* 123 5,040
= 5,040
SRUPNEE=Eo WIS 1,675,4902+34 5,027
= 5,027
oJtEsE 60,0002 x3& * 122 2,160
= 2,160
303 Z&a= 3,561 0 3,561
= 3,561
02 8tatoi2 3,561 0 3,561
Oodnatoi= 1,186,680& *3H 3,561
= 3,561
M HASFESS 14,220 12,600 1,620
= 11,376
Al 853
- 1,991
04 SR (RIH )22 BEE=RES S 14,220 2,880 11,340
O=EgzsRE=s S 1,185,000« 12& 14,220
= 11,376
Al 853
- 1,991
OlSSAIWAL 12| 43,749 36,592 8,157
= 13,877
Al 6,939
T 6,938
= 15,995
101 ©1AH| 37,334 32,086 5,248
= 11,693
Al 5,847
- 5,846
= 13,948
03 SR (RINAHA) 222+ 37,334 32,086 5,248
OOtS= X WAL 2= 23,386
oJlEad 23,386,000 23,386
= 11,693
Al 5,847
T 5,846
OOtS=SX LA 24 FHIRE 13,948
S 4,703,960 4,704
= 4,704
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SN ISR
M BHSHAY| OIS
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
d& Fotl 2,340,830 «80% 1,873
= 1,873
o HASAH 140,000« 12& 1,680
= 1,680
oHIRaERIIrE 1,675,490& 1,676
= 1,676
oIESH 40,0002 123 480
= 480
oA2t2+g
13,0902 150%=* 15A1 2t * 122 3,535
= 3,535
303 Za= 1,187 0 1,187
= 1,187
02 d1ta0i= 1,187 0 1,187
Odtati= 1,186,680 1,187
= 1,187
M HASFESS 5,228 3,506 1,722
= 2,184
Al 1,092
- 1,092
= 860
04 R (RIHA)22N BEERES S 5,228 804 4,424
O=EgsRE=s & 4,368,000 4,368
= 2,184
Al 1,092
- 1,092
O=EgsRE=s & 860,000 860
= 860
OlISE2sdsRa 2= 37,567 25,410 12,157
= 24,656
Al 3,072
- 4,892
= 4,947
101 @124H| 37,567 25,410 12,157
= 24,656
Al 3,072
- 4,892
= 4,947
02 JIEtME = 37,567 25,410 12,157
OOtSESHE R (AIZHEERIADIH 0tS)
2 31,900
S
35,200,000 / 12x35/40A1 2H+ 128 30,800
= 24,656




SN OIS
M. HYRSAAH|I(OISH=1)
o ol 2I|
SA BB SL(BH) - NSAY - B 0l o A
Al 3,072
= 3,072
IR
9,160 *10Al2tx 12& 1,100
O0lsE2sdERd B+ FAHIRY 5,667
oJIEsY 60,0002 122 720
o HAHZAY| 140,000& x12& 1,680
= 1,680
ST
155,000 *35/40A1 2+ 12& 1,628
= 1,628
oS4RRLY
24,601,000 /122 +84%*5%+ 122 1,034
= 1,034
o HAIE AH|
21,526,000 /122 *x84%*86%x 1/30%1/7*9BAI 2+
605
= 605
J|l24dhl 62,592 62,592 0
SMII223H| 62,592 62,592 0
201 Let2IH| 9,072 9,072 0
01 AtR2teldl 9,072 9,072 0
OFNMESY JI2+2H| 279,000& *16Y 4,464
OJ |28 Z S|
8,000 x3A1x16H + 12& 4,608
202 0441 49,920 49,920
01 ZLHOdHI 49,920 49,920
Ol |28 (|
260,000& x16H 122 49,920
203 R =&IH| 3,600 3,600
M4 ENSILRFAY| 3,600 3,600
ORAEAHZ2Y 300,000 = 12& 3,600
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